RECEIVED

KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM

Form ACO-1 September 1999 Form Must Be Typed

JUN 222005

WELL HISTORY - DESCRIPTION OF WELL & LEASE

KCC WICHITA

QRIGINAL

Operator: License # 6170	API No. 15 - 165-21,784-00-00
Name: GLOBE OPERATING, INC.	County: Rush
Address: P.O. Box 12	C <u>W/2</u> SE Sec. 4 Twp. 18 S. R. 18W East X Wes
City/State/Zip: Great Bend, KS 67530	1320 feet from (S) (circle one) Line of Section
Purchaser:	1980 feet from (E) (circle one) Line of Section
Operator Contact Person: Richard Stalcup	Footages Calculated from Nearest Outside Section Corner:
Phone: (_620_) _792-7607	(circle one) NE (SE) NW SW
Contractor: Name: Discovery Drilling Co., Inc.	Lease Name: Underwood-Foster Well #: 1
License: 31548	Field Name: LaCrosse
Wellsite Geologist: Jim Musgrove	Producing Formation: None
Designate Type of Completion:	Elevation: Ground: 2083 Kelly Bushing: 2091
X New Well Re-Entry Workover	Total Depth: 3911 Plug Back Total Depth:
OilSWDTemp. Abd.	1265
Gas ENHR SIGW	
X Dry Other (Core, WSW, Expl., Cathodic, etc)	Multiple Stage Cementing Collar Used?
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth setFee
Operator:	If Alternate II completion, cement circulated from
	feet depth tow/sx cmt. (15sks In Rat Hole)
Well Name:	Drilling Fluid Management Plan
Original Comp. Date; Original Total Depth:	(Data must be collected from the Reserve Pit) 4-18-37 Chloride content
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 12,000 ppm Fluid volume bbls
Plug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No.	Location of fluid disposal if hauled offsite;
Dual Completion Docket No	Operator Name: Paul's Oilfield Service, Inc.
Other (SWD or Enhr.?) Docket No	Lease Name: Petersen License No.: 31085
4/29/05 5/4/05 5/4/05	
Spud Date or Date Reached TD Completion Date or Recompletion Date	Quarter NW Sec. 7 Twp. 19 S. R. 15 East West County: D-22173
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells.	r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
Bignature: Signature:	KCC Office Use ONLY
Richard Stalcup	1/7
itle: Prod Supr. Date: 6-17-05	Letter of Confidentiality Attached
Subscribed and sworn to before me this of day of June	If Denied, Yes Date:
3208.	Wireline Log Received
lotary Public: M. Summe Wooster	Geologist Report Received
1 11 a position	UIC Distribution
Date Commission Expires: 7-2-07	ate of Karisas
M. LYNNE V	NOOSTER AND

Operator Name:G	OBE OPERAT	ING, INC.	Lease Name	. Underwoo	d-Foster	_ Well #:	1
Sec. 4 Twp. 18	3 s. R. 18W	East X West	County:	Rush		_ vven #:	
INSTRUCTIONS: Show tested, time tool open a temperature, fluid recove Electric Wireline Logs so	ery, and flow rates	and snut-in pressures, if gas to surface test.	, whether shut-in p along with final ch	raccura ragaha	d statio loved breden	maken all a company of	
Drill Stem Tests Taken (Attach Additional She	eets)	Yes X No		Log Forma	tion (Top), Depth a	nd Datum	Sample
Samples Sent to Geolog	gical Survey	Yes X No	Na	me		Тор	Datum
Cores Taken Electric Log Run (Submit Copy)		Yes XNo					
List All E. Logs Run:							
		Report all strings set-	RECORD X conductor, surface, in		ction, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacjs Used	Type and Percent Additives
Surface Pipe	121/4	8 5/8	23	1265	70/30Poz	450	2%Ge1&3%CC
Purpose: — Perforate — Protect Casing — Plug Back TD — Plug Off Zone	Depth Top Bottom	ADDITIONAL Type of Cement	CEMENTING / SO	QUEEZE RECOR		ercent Additive:	s
Shots Per Foot	PERFORATION Specify Foo	I RECORD - Bridge Plug tage of Each Interval Per	gs Set/Type forated		cture, Shot, Cement S		rd Depth
TUBING RECORD	Size	Set At	Packer At	Liner Run	Yes No	V. P.	
Date of First, Resumerd Pro	duction, SWD or Enhr	. Producing Meth	nod Flowir	ng Pumpi	ng Gas Lift	Othe	er (Explain)
Estimated Production Per 24 Hours	Oil Bbi	s. Gas I	Mcf Wat	er B	bls. Ga	s-Oil Ratio	Gravity
Disposition of Gas	METHOD OF COM	IPLETION		Production Inter	val		
Vented Sold (If vented, Submit	Used on Lease ACO-18.)	Open Hole Other (Specif		Dually Comp.	Commingled		



ALLIED CEMENTING CO., INC.

P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566

INVOICE

Invoice Number: 096724

Invoice Date: 05/06/05

Globe Operating, Inc. Sold To:

Great Bend, KS

67530

Cust I D....: Globe
P.O. Number..: UnderwoodFoster */
P.O. Date: ...: 05/06/05

Due Date.: 06/05/05 4 Terms...: Net 30

i	,	11 15 As			
tem I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common	315.00	SKS	8.7000	2740.50	т
ozmix	135.00	SKS	4.7000	634.50	$\stackrel{ au}{ ext{T}}$
Gel	8.00	SKS	14.0000	112.00	T
Chloride	14.00	SKS	38.0000	532.00	Ť
landling	472.00	SKS	1.6000	755.20	
fileage (32)	32.00	MILE	28.3200	906.24	E E
472 sks 0.06 pe			20.3200	906.24	E.
Surface	1.00	JOB	670.0000	670.00	E
ileage pmp trk	32.00	MILE	5.0000	160.00	E
Extra Footage	965.00	PER	0.5500	530.75	E
Rubber Plug	1.00	EACH	100.0000	100.00	T
3				100.00	-
All Prices Are Net	t, Payable 30 Days F	ollowing Subt	otal:	7141.19	
Date of Invoice.	l 1/2% Charged There	after. Tax.	:	218.31	
If Account CURREN	T take Discount of \$	71412 Paym	ents:	0.00	
NLY if paid with:	in 30 days from Invo	ice Date Tota	1:	7359.50	
				-714,12	
±				6,645,38	3
				-/ /	ì

RECEIVED

JUN 2 2 2000

KCC WICHITA

ALLIÉD CEMENTING CO., INC. P.O. BOX 31 RUSSELL, KS 67665 PH (785) 483-3887 •FAX (785) 483-5566

ORIGINAL

INVOICE

RECEIVED

JUN 2 2 2005

KCC WICHITA

Invoice Number: 096807

Invoice Date: 05/11/05

Globe Operating, Inc. P. O. Box 12
Great Bend, KS Sold To:

67530

Cust I.D. ...: Globe

P.O. Date ...: 05/11/05

Due Date.: 06/10/05

Terms...: Net 30

T+		and the second second			
Item I.D./Desc.	Qty. Used	Unit	Price	Net	TX
Common Pozmix Gel FloSeal Handling Mileage (32) 164 sks @.06 per Rotary Plug Mileage pmp trk	93.00 62.00 8.00 38.00 164.00 32.00 sk per mi 1.00 32.00	SKS SKS SKS LBS SKS MILE JOB MILE	8.7000 4.7000 14.0000 1.7000 1.6000 9.8400	809.10 291.40 112.00 64.60 262.40 314.88	TTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTTT
Oryhole Plug	1.00	EACH	35.0000	160.00 35.00	${f T}$
All Prices Are Net, Payable 30 Days Following Subtotal: Date of Invoice. 1 1/2% Charged Thereafter. Tax: If Account CURRENT take Discount of \$27/44 Payments: ONLY if paid within 30 days from Invoice Date				2714.38 143.86 0.00 2858.24 27,44 2,586.80	